= AH O
N = 0 &8 AF S & Al A
20128 = 20lA LBHE|IH A ~ A D
2 A
M I
ool B N (e
- _ _ bSRE Y=
2MH - 2 . H2(ZH) - MEAY - BES Ol &F2H @;OH Hns
st 0t 6,212,052 6,168,124 43,928
= 2,073,786
o= 404,108
Al 3,734,158
L s PSS el 907,000 654,000 253,000
= 302,000
< 59,000
Al 546,000
BE M g 317,000 272,000 45,000
= 50,000
Al 267,000
MA 29 <, X7 ¢ A 10,000 30,000 220,000
201 B2 H| 10,000 30,000 ~20,000
03 HAI2HH| 10,000 30,000 20,000
OMH 289 <, X7 <, aFo & #8A S 10,000
HFEOM21 AAAMY =X 150,000 150,000 0
307 2I2tol & 150,000 150,000 0
02 It AE X 150,000 150,000 0
O&F2IM21 AEANYE =& 150,000
HESMESIATKAME X 30,000 30,000 0
307 212t0l & 30,000 30,000 0
02 OI2tEAMNE X 30,000 30,000 0
OXESMEATRAMLME X 30,000
NHESSHEANML J|E AL 15,000 0 15,000
307 212t01 & 15,000 0 15,000
02 QI2tHAE X 15,000 0 15,000
ONHESHENIL I8 HA 15,000
TAEH AKE 2% 2,000 2,000 0
203 SR F=&H| 2,000 2,000 0
03 A=A 2 =KIY| 2,000 2,000 0
OZAEE A3 299 2,000
SAES MM EZ23 10,000 10,000 0
301 LBt A2 10,000 10,000 0
10 HAIAHIB A2 10,000 10,000 0
osdEs ¥ EE3 29 10,000
IIEHSIHE SEHE +=E- 100,000 0 100,000
=2 50,000
Al 50,000
207 ™ PRI 100,000 0 100,000
= 50,000
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B . M. CHe (5 NEAY . B2 Al OH HEE Hl =2+
Al 50,000
01 31 E | 100,000 0 100,000
OJl=zdstils 100,000
= 50,000
Al 50,000
2ot 2 590,000 382,000 208,000
= 252,000
& 59,000
Al 279,000
J=YHs s HAS st At 200,000 200,000 0
= 100,000
Al 100,000
207 A PO 50,000 0 50,000
= 25,000
Al 25,000
01 232 E | 50,000 0 50,000
OHAZER gz Y 2ES Y IA 50,000
= 25,000
Al 25,000
301 LEE A= 45,000 25,000 20,000
= 22,500
Al 22,500
12 J|Et2 43 45,000 25,000 20,000
oHAaA=Es =N ISENE= 45,000
= 22,500
Al 22,500
402 SI2HXH201 ™ 105,000 175,000 A70,000
= 52,500
Al 52,500
01 QI2t X228 X 105,000 175,000 A70,000
QOHAZES =D SSHAHARS 105,000
= 52,500
Al 52,500
SAINAMZ AHHFE 42,000 42,000 0
201 L Et2FH| 42,000 42,000 0
01 At 2teltl 30,000 32,000 A2,000
OJl=d8stis 30,000
02 2224l 12,000 10,000 2,000
OSHAZQERN HUWL HUHE LS
20,0008 22| 12,000
Ol RIS & A 8,000 8,000 0
201 Ler24g| 8,000 8,000 0
03 A2 HI 8,000 8,000 0
ouuXel ¢ 8,000
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A 230

X 3

cel: SUaIH B2 (9l & 2
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
= 3,000
Al 3,000
BIE=t=FI5Y 2,193,230 1,708,700 489,530
= 1,154,740
= 313,055
Al 725,435
Holeg olae 2,193,230 1,708,700 489,530
= 1,154,740
= 313,055
Al 725,435
BIEOIA S 51,500 36,500 15,000
201 YEr2gy| 9,500 9,500 0
01 AtR 22| b 2,000 2,000 0
OBIZEIIA TDEHZDXAM L AAlQlIH
5021 20,0004 1,000
0BBY SES B U+Y S PY
10,0002 * 1007 1,000
02 T2 7,500 7,500 0
ODXA(HMER S=)2s BRI
2502 ,00021 %23l 4,500
x| 2500008 *122 3,000
301 YBrE A2 2,000 2,000 0
12 JIEH2 42 2,000 2,000 0
ONEX HEINA SHETE T 1,000
OBIZAA L TEX HEIIA T MYPA
50,0008 *103] x2 2 1,000
405 Xt &H3 St 40,000 25,000 15,000
01 KAt S E 3 S| 40,000 25,000 15,000
O &S HICI23t0lat 40,000
HMOIA HA oi2H BF 820,000 600,000 220,000
=2 410,000
= 123,000
Al 287,000
402 212t R 20| 820,000 600,000 220,000
= 410,000
= 123,000
Al 287,000
01 UAT =S 820,000 600,000 220,000
OFHIIA HA SBY BF 820,000
= 410,000
= 123,000
Al 287,000
HMOIA AlUHA 22 814,000 370,000 444,000
= 407,000
= 122,100
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= N W
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= Hn N
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SN BB
o MEEY 2
ol TRIMEfES R 29 EEREE)
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
OHEA S=BY NS ZAE
500, 0002 *324 #23] 3,000
OGHEA AHI 24 15,0002 «42+262 122 18,720
Ko MEHHE Bt Ol E JH 20,000 20,000 0
201 YBr2 | 20,000 20,000 0
03 A2 b 20,000 20,000 0
OXHMENTIE 5H& Ol ES A
500, 0002 *203] 10,000
OO{RI0l & JItE BA 10,000
N ME SR HAB 28,000 21,000 7,000
307 81240 28,000 21,000 7,000
05 BI2teIEr2 28,000 21,000 7,000
ONHMEHSH HABY 28,000
WILAKIE o BZHA 2,733,558 2,145,200 583,358
2 617,046
= 10,053
- A 2,106,459
WILAX el X2 2,733,558 2,145,200 583,358
2 617,046
= 10,053
A 2,106,459
SYSNSB N SHYAL 2 132,000 1,118,800 986,800
2 66,000
A 66,000
401 Al&HI L 2 THY| 132,000 1,118,800 986,800
2 66,000
A 66,000
01 Al&H] 128,780 1,095,687 966,907
OXY WAL &X| 128,780
2 66,000
A 62,780
02 22l 2,270 16,401 ~14,131
OXNEY YHHAE &X| 2,270
03 Al & = Chbl 950 6,712 75,762
OXY LA &X| 950
HECQSREB ATHMULR S & 294,000 0 294,000
2 147,000
A 147,000
401 Al & HI L 2 THY| 294,000 0 294,000
2 147,000
A 147,000
01 AI&H] 283,668 0 283,668
OUTHAMOILIXI &bl (AT, EHFS) AX 283,668
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o LAY L BIHA

ool AT el X (Etel: &8
_ _ _ Muo
SA - SR(E) - HRAY - BES 0 & 24 i HIRE
= 147,000
Al 136,668
02 Zeltl 8,232 0 8,232
OATHAOILIXI S (BT, B ) & 8,232
03 Al& 2 CHH 2,100 0 2,100
OATHAOIIXI S (BT, EHYS) & 2,100
SE2XY LR AAMOALY S 240,000 0 240,000
= 120,000
Al 120,000
401 Al AL 2 THE| 240,000 0 240,000
120,000
120,000
01 Al&l 233,870 0 233,870
OZZ2XY MUK FAMOALY 75 233,870
120,000
113,870
02 el 4,410 0 4,410
OZ2XY LN AAMOALY 25 4,410
03 Al & 2 CHH 1,720 0 1,720
OZ2XY LR FAMOALY 75 1,720
HA LEDEYS &3 300,000 0 300,000
150,000
150,000
401 A& 2L L THY| 300,000 0 300,000
= 150,000
Al 150,000
01 Al&l 289,440 0 289,440
OF A LEDEYS &XI(Al - HT7) 289,440
= 150,000
Al 139,440
02 Zreltl 8,400 0 8,400
OF A LEDEZS &XI(Al - STR) 8,400
03 Al & 2 CHH 2,160 0 2,160
OF A LEDEYS HXI(Al - HA7) 2,160
CEze CADIA 23 1,500,000 1,000,000 500,000
402 QI2FXHR OB 1,500,000 1,000,000 500,000
01 QAX=BE 1,500,000 1,000,000 500,000
OHSFE TAIIA 23 1,500,000
ALK 2S(2HEFR) 100,000 0 100,000
402 BIZIR 20| F 100,000 0 100,000
01 QI XHE R E 100,000 0 100,000
OHSFe DS 10085 23
2,000,0009! %507} 72 100,000




SN S
o LAY L BIHA

Sol: LK 22l K (cho ®el
_ _ _ Muo
SN EB -GS - MBAY - BES 01l &k o e HRE2
KEBIZ JFAAS & 167,558 26,400 141, 158
= 134,046
= 10,053
Al 23,459
403 XHXI &M S XH2 01 & 167,558 26,400 141, 168
= 134,046
= 10,053
Al 23,459
02 2|2 S 0l CHSHCH & AR b 167,558 26,400 141, 158
OACIZ JFAAS JHed 19,0002 *842K) CH 167,558
= 134,046
= 10,053
Al 23,459
HHSAFH (BB D) 85,084 84,244 840
JI2ZH (D) 85,084 84,244 840
JI2ZHI (22 D) 85,084 84,244 840
201 YBre | 47,764 46,924 840
01 Ak 22l 32,764 31,924 840
CEIEIER=1] 8,400
OZANAZZ ARG 28+
70,0002 *62 x23 840
ozl 13,524
02 BB=22H| 15,000 15,000 0
ORXSHBHMEZEAS L ISOM A2 10,000
OUIIAEHA MRS U ANLEE 5,000
202 01 33,120 33,120 0
01 2ULH 01| 33,120 33,120 0
CPE=EERSIG] 33,120
203 R =X | 4,200 4,200 0
04 RNSAYRETY| 4,200 4,200 0
oORMEIYRETY] 350,0009! * 128 4,200
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